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Look at the table and answer these questions:
a)     Type here‘s tower is the tallest.

b)        ‘s tower is the shortest.

c) Mo’s tower is          than Dexter’s.

d) Eva’s tower is        than Alex’s.


Write the following lengths in longest to shortest:
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Sunflower A:   type here        Sunflower B:                     Sunflower C:               .                                  

                              Sunflower D:                                Sunflower E:               .
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Teddy, Mo, Amir, Dora and Annie have each grown

a sunflower.
Use the clues below to work out which sunflower belongs
to which child.
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My sunflower
is twice as tall
as Teddys.

My sunflower is
less than 1 m tall.

My sunflower
is 3 cm taller
than Mo’s.

My sunflower
is the tallest.

Write the owner of each sunflower.
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o Here are the results.

870 mm 105 cm 1mand 30 mm| 1 mand 10 cm

The person who jumped the furthest wins the competition.

Put the children in order from 1st to 4th place.
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o Jack, Tommy, Rosie and Whitney have a jumping competition.
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Eva, Mo, Alex and Dexter have each built a tower.

Use the table to complete the sentences.

Eva Tm5cm
Mo 135 cm
Alex 1m45cm
Dexter 1m25cm
a — 'stower is the tallest.
by 'stower is the shortest.
) Mo'stoweris____ than Dexter's.

d) Eva'stoweris — than Alex’s.




